LABJNDu? triangle lightness T*
* =

T* Y=L w nc=100,

T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=146,T* (18)=332,T*,/(90)=517

* 1
T*o(=517.21, A, 1760, ¢=0,84
T*15=332,22, /,,7 0. 914, A,=0,§058
T*3=146, 1177 32,22 Y= 18.
L . 1Y.=18
AN=36 § V=90

application
ange

Iog(AY)
AY

LABJINDu7

tristimulus value difference

Yoc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, see CIE 230:2019

d¥95=0,80, Ay=1,500, ¢=0,84

dY;g=0,17, A =0,014, Agn 0,005¢,

dY3 6=0,05 Y,=18, dY;=0 .

* =332, dY,=0,17, dY,/Y,= o mog" .

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y
(dY/Yy=0,0089, A=1

(dY/Y)=0,0098, A =0 ,Ag 0, 50058
(dY/Y} 6=0,0146 Yu=1& dY=0,17

-
log(dY/YF=2,00 my=-0. 35

Tr,=332 dY,=0,17, dY,{¥,=0,0098
1
1

1Y,=18
Yw=90

pﬁ)llcauon

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu7
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]
(Y/dY}o=111,88, A=1,500, ¢=0,84

&
(Y/dY)g=101,11, A=0.014, A,=0,0058
(YIdY} =68 55 Y218, d=0.17

L)

[ application
1 range
1y,=18

1 Yw=90

Yn=3.6

TEIT
T,

LABJINDuU? relative triangle lightness T*/T*,,
Yn=L* w nc=100,

T aganpu7 =[IN[A 17+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#n(3,6)=146,T* ,(18)=332.T*(90)=517
T*odT*,=1,55, Ayr=L,500, 4=0,84
T 0,014, A=0,0058
T* dT* =0, 43 T, _332 ,22 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T* =332 1
1 application
f range
1y,=18
Yy =90

N=36

log(A Y/AY i)
AYIAY,

LABJNDuUTY relative
tristimulus value difference
Yoe=L*w ~ ne=100,

T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIOY,=AgfA 1 +AgYI/AY,
dYog/dY,=4,51, Ay=1,500, ¢=0,8
v dv 1100, AT0,014. 20, 058
dYsdY,=0,29 V.18, d\=0.17

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LaBINDu7=[IN[(A 10+A2nY)J(A 2nA0n)] (Y/100<Y<=Yc)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Yhg/(dY/Y)=0,90, A4y=1,500, ¢=0,84
(AY/Y)g/(dY/YA=1,00, Ap=0,014, A,=0.0
(dY/Y%aé(dY/Y)J-J 48 é"]a ay= 57

058

log[(dY/YY(dY/Y),]=0, m=-0, i
T%,=332 dY,=0,17, d¥,/Y,=0,009¢}

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,10, Ay=1,500, ¢=0,84

(Y/dY)g/(Y/dY)=1.00. An=0.014, /,=0,0058
(Y/dY%vd(Y/dY =0,67 Y,=18, dY=0.17

T*,=332 dY,=0,17, Yu/u\e o
> application
range

1y,=18
Yw=90

YN=3.6




